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Part One

Reading Cohwprehension (Passages 1~100)

Passage 1

Have you ever seen a moon that looks unbelievably big? It hangs
over the horizon like a huge, pale hot-air balloon. Many people think of
the bright full moon of autumn or the harvest moon that way — like a
huge, pale hot-air balloon. But can you always trust your eyes?

The harvest moon is the full moon on a day nearest the first day of
autumn. Full or nearly full, it rises early in the evening for several
nights in a row. It brings farmers well-lit evenings to harvest their
crops.

The harvest moon can look huge. But does it really fill more of the
sky than an ordinary full moon?

Why does the moon look bigger when it is near the horizon? Our
brains compare the size of the moon with the size of the objects we see
on the horizon. We know that the distant mountains, homes, or
skyscrapers are really very large. And, since the moon is much farther
away than is the distant landscape, we “see” the moon as being larger
than it would otherwise look.

1. To what do we compare the size of the harvest moon?
A. Mountains. B. Buildings.
C. Homes. - D. All of these.

2. The main purpose of the article is to
A. inform B. persuade



C. praise D. convince
3. The author knew most people find the moon

A. mysterious B. interesting
C. boring D. so ordinary
4. The moon locks bigger if .
A. it is autumn B. it is near the horizon
C. homes are near D. it is a clear night

5. The autumn moon -
A. is more beautiful than it really looks
B. is the brightest object in the sky
C. rises slowly at dawn
D. helps farmers see as they harvest their crops

Passage 2

Strange thing happens to time when you travel. Because the earth
is divided into twenty-four time zones one hour apart, you can have
days with more or fewer than twenty-four hours, and weeks with more
or fewer than seven days.

If you make a five-day trip across the Atlantic Ocean, your ship
enters a different time zone every day. As you enter each zone, the time
changes the hour. Traveling west, you set your clock back; traveling
east, you set it ahead. Each day of your trip has either twenty-five or
twenty-three hours.

If you travel by ship across the Pacific you cross the international
date line. By agreement, this is the point where a new day begins.
When you cross the line, you change your calendar the full day,
backward or forward. Traveling east, today becomes yesterday;

traveling west, it is tomorrow !

6. The best title for this selection is .
A. A Trip Across the Atlantic
B. How Time Changes Around the World
C. Crossing the International Date Line
D. How Time Zones Were Set Up
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7. The difference in time between zones is
A. seven days B. twenty-four hours
C. one hour D. more than seven days
8. From this selection it seems true that the Atlantic Ocean
A. is in one time zone
B. is divided into twenty-four time zones
C. is divided into five time zones
D. cannot be crossed in five days
9. The international date line is the name for
A. the beginning of any new time zone
B. the point where time changes by one hour
C. the point where a new day begins
D. any time zone in the Pacific Ocean
10. If you cross the ocean going east, you set your clock
A. ahead one hour in each new time zone
B. ahead one time for the whole trip
C. back one full day for each one full day
D. ahead by twenty-three hours

Passage 3

Holidays in the United States usually occur at least once a month.
Most months have a national holiday that has been arranged to be
celebrated on a Monday. The holidays have all been decided to be
celebrated on a Monday so that the workers may have 3-day weekends
— that is, Saturday, Sunday and Monday in order to rest or travel or
do things with their families. Major holidays in the United States such
as New Year's Day or Christmas Day or the day, when we remember
the first settlers of the United States, called Thanksgiving Day are
celebrated all over the country. During these holidays most businesses
close and the workers stay home and celebrate with their families.

Vacation can be from 2 weeks a year to 4 weeks a year. This
usually depends-on how long you’ve been working for a company, what
type of position you have, whether you have a very high position or a
very important position and it’s difficult to find someone to replace you.

e 3



In this case, you might take a few days at a time rather than taking one
month all at once. Usually the more time you spend working for a

company, the more time you may get for a vacation.

11. The government of the United States makes it a rule for workers to

have a weekend almost once a month.
A. 1-day B. 2-day
C. 3-day D. 4-day

12. Workers in the United States sometimes work from
A. Monday to Saturday B. Tuesday to Sunday
C. Thursday to Friday D. Tuesday to Friday

13. Which statement is NOT true according to this passage?
A. Only a few shops remain open on New Year’s Day.
B. Most of the workers needn’t work on Christmas Day.
C. Days on vacation must be more than all the holidays in a year.
D. All the workers have a half-month vacation.
14. The reason why someone has to divide his vacation into several
parts is that
A. no one can be found to take his place
B. he hasn’t a most high position
C. he plays an important role in his work
D. he hasn’t been working for his company for a long time
15. Which of the following is the best title for this passage?
A. Holidays in the United States.
B. Vacation in the United States.
C. How Do the Workers Spend Their Holidays.
D. Something About the Holidays and Vacation in the U. S. .

Passage 4

Sarah Winchester was a very rich woman. She didn’t buy many
jewels or fancy clothes. Instead, she spent millions of dollars to build a
house. The strange thing about Sarah’s house was that it was never
finished. Work on the house went on for 38 years because Sarah was
afraid to stop building it.
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Sarah’s house was near San Jose, California. Every day, a crew of
carpenters, plumbers, and other workers arrived there. Sarah wanted
more rooms and more doors and more windows, so the workers kept on
building them. The house was seven floors high and had 160 rooms.
There were 2,000 doors and 10,000 windows. There were also three
elevators, nine kitchens, and 47 fireplaces.

Why did Sarah want a house that kept getting bigger? The reason
seemed to be that Sarah was afraid of dying. She thought she would die
when the house was finished, so she made certain that it was never
finished.

Sarah Winchester’s plan seemed to have worked because she lived
to be 83 years old. Finally, her house was finished.

16. What did Sarah keep doing to her house?

A. Making it cleaner. B. Making it quieter.

C. Making it bigger. D. Making it more beautiful.
17. The story says that Sarah’s house had

A. 7 floors B. 40 floors

C. 160 floors D. 3 floors

18. Who did the work on Sarah’s house?
A. Sarah herself and other workers.
B. Sarah’s children and other workers.
C. Carpenters and plumbers and other workers.
D. Engineers and other workers.
19. How long did the work on the house continue?

A. For 7 years. B. For 38 years.
C. For 83 years. D. The story doesn’t tell.
20. Sarah’s house was finally finished
A. when she moved in B. when she spent all her money
C. when she died D. when she was seriously ill
Passage §

The diner is only a humble restaurant, but it has a special place in
American life. Diners appear in our novels, plays, poems, and movies.
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Many artists have used diners as scenes for their paintings. Why are
diners so fascinating to us?

The diner attracts many different kinds of people. It is a haven for
lonely truck drivers far away from home. Construction workers learn
about new jobs in distant cities. Traveling salesmen exchange gossip
with one another. Teenagers sit in their booths, eating hamburgers.

The people who work in diners are also interesting. Where did the
new waitress come from? Will she remain here, or will she suddenly run
off one day, as the last one did? And is the short-order cook really an
escaped prisoner, fleeing from the law? ,

Everyone conies to the diner for a different reason. Some want to
work there, and some want to eat there. Some stay for years, and
others stay only for a few minutes. But, for all of them, the diner is a
bright, warm stopover between the endless stretches of an open road.

21. What’s the main idea of paragraph 27
A. The attraction of diners to different people.
B. Food offered at diners.
C. How people eat at diners.
D. When people come to diners.
22. The purpose of the last paragraph is to
A. tell us about the reason for people coming to diners
B. invite us to try diners as a stopover between stretches of an open
road
C. give a summary of the whole passage
D. state the major point of the preceding paragraph
23. Why do truck drivers like a diner?
A. Tt’s a place to gossip.
B. It’s a place for fries and a hamburger.
C. It’s a haven against loneliness.
D. It’s a place to learn about new jobs.
24. Diners attract
A. only truck drivers
B. many different kinds of people
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C. novelists
D. escaped prisoners

25. Diners are

A. quiet B. unpleasant
C. luxurious D. fascinating
Passage 6

In the past two years, millions of Americans have suddenly
embraced the bicycle as if it were a startling new invention. Annual bike
sales doubled between 1960 and 1970, and there are nearly 70 million
bikes in the United States today. That’s more than two for every three
automobiles.

Of course, the bike has been around for more than 150 years, and
this isn’t America’s first bicycle boom. A wave of bike enthusiasm
swept the land in the late 1800s and bicycle production hit two million
units in 1897. Then with the coming of the auto, bicycling declined,
and for decades remained popular only with children and a few adult
faddists. .

Now, national preoccupation with air pollution and physical fitness
has brought the bike back to the forefront — particularly with adults.
More than eight million bikes were sold in the United States last year
and a third of them went to adults. The year before, only 15 percent of
new bike sales were for adults.

26. The word “embrace” in the first sentence is closest in meaning to

A. make use of B. take someone into arms
C. contain D. deal with
27. Tt can be concluded that if people continue to concern themselves
with air pollution and physical fitness,
A. stricter air standards will be enforced
B. fewer automobiles will be sold
C. Americans will enjoy better health
D. bicycle sales will continue to rise



28. The bicycle is .

A. enjoying a strong revival  B. creating traffic problems

C. popular only with children D. replacing the family cars
29. The reader can also conclude that Americans are

A. quick to follow the example of others

B. interested in comfort and luxury

C. concerned with the quality of their lives

D. childish in the way they relax and exercise

“,..and this isn’t America’s first bicycle boom. ”

30. In the sentence
(Para. 2) the word “boom” means

A. a rapid increase in sale B. supermarket
C. a rapid increase in price D. shop
Passage 7

If you have ever tried to keep a few spiders in a jar, you may have
made an interesting discovery. In a few days, you may have only one
spider. Many spiders are cannibals! Hungry spiders eat anything they

are able to catch, including other spiders.

¢ ”

A spider has a very small mouth and does not actually “eat” its
victim. Instead, it first sucks out the body juices from its victim’s
body. Then {luids from the spider are injected into the victim’s body.
These fluids turn the victim’s tissues into juices that can also be eaten
by the spider. Later, the hollow body of the victim is cast aside.

You may wish to study spiders as they capture or feed on their
victim. You can keep many kinds of spiders in small, clear plastic
containers with soft plastic caps. Pierce the caps for air. Be sure to keep
only one spider in each container. Keep the containers in a cool place. If
the spiders are not fed for a week, many of them will attack small live
creatures that are placed in their containers.

Flies, caterpillars, or other spiders can serve as food. However,

large ants and members of the wasp family may frighten the spider.

31. Which of the following is the best title for the passage?
A. Pet Spiders.
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B. Animals That Eat One Another.
C. The Eating Habits of Spiders.
D. Catching Spiders.
32. The word “cannibal”(Para. 1) means
A. an animal eating its own kind
B. an animal eating plastic containers
C. an animal injecting fluid
D. an animal always being hungry
33. A spider might be frightened by

A. caterpillars B. big spiders
C. flies D. large ants
34. In “eating” a victim, which of these does a spider do last?
A. To suck out juices. B. To inject fluids.
C. To toss the body aside. D. To catch another spider.

35. The best way to encourage spiders in containers to eat is to
A. fill the container with water
B. keep the spiders hungry for a week
C. remove the lid from the container
D. feed the spiders a little each day

Passage 8

Antonia left Athens and came to America to make her fortune.
She wanted to be a famous actress, so she went to live in Hollywood ,
California.

At first, Antonia had very little money, so she was forced to
watch every penny while making the rounds of movie agents’ offices.
For over a year, she worked only in small parts. She found life
extremely hard. She had to take buses or walk everywhere, and she ate
only one meal a day. Even though she worked nights as a waitress,
Antonia could not really make ends meet.

Suddenly, one day, the star of the film became ill, and the director
asked Antonia to take the part. Her acting was superb. After the first
show of the film, she became an overnight suecess. Everyone gave her
mad notices, and she received many offers for future starring roles.
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Since then, Antonia has changed her whole way of life. Now she
wears expensive furs and drives a Rolls-Royce. She lived in a twenty-
seven room house in Beverly Hills, with seven servants. All her needs
are cared for. For Antonia, America was truly the land of streets paved
with gold. Through her hard work, she had earned the fame she

desired so much.

36. The phrase “making the rounds” (Para. 2) most probably means

A. visiting B. making a fortune

C. working extremely hard D. starring in films
37. What changed Antonia’s way of life?

A. Wearing expensive furs. B. Her good fortune.

C. Her superb acting. D. Her experience as a waitress.
38. How many people live in her large house?

A. One. B. Twenty seven.

C. Seven. D. Eight.

39. What can we know from this passage?
A. Antonia paved the streets with gold.
B. She starred in films for one year.
C. She went home to Athens.
D. She became an overnight success.
40. The tone of this passage can best be described as

A. cold B. admiring
C. sad D. pitiful
Passage 9

Doctors have known for a long time that extremely loud noises can
cause hearing damage or loss. The noise can be the sound of a jet
airplane or machines in factories or loud music or other common sounds
found at home and at work.

A person only needs to hear the noise for little more than one
second to be affected.

An American scientist had found that using aspirin can increase the
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temporary hearing loss or damage from loud noise. He did an
experiment, using a number of male students at a university who all had
normal hearing. He gave them different amounts of aspirin for different
periods of time, then he tested their hearing ability. He found that
students who were given four grams of aspirin a day for two days
suffered much greater temporary hearing loss than those who did not
use aspirin. The hearing loss was about twice as great.

The scientist said millions of persons in the United States use much
larger amounts of aspirin than were used in the study. He said these

persons face a serious danger of suffering hearing loss from loud noises.

41. Doctors have long known that
A. one will become deaf when he hears a loud noise
B. hearing damage or loss can be caused by sounds of all kinds
C. one may lose his hearing when he hears a terribly loud noise
D. common sounds at home are not harmful to the ear
" 42. This passage suggests that one’s hearing
A. will be damaged even if he has heard a loud noise for less than
one second
B. will be damaged even if he has heard a loud noise for only little
more than one second
C. will not be damaged if he has heard a loud noise for only little
more than one second
D. will not be damaged if he has little more than one second to get
ready
43. According to this passage, one conclusion you can draw is that
aspirin
A. should never be taken more than four grams daily
B. can damage one’s hearing when it is given more than four
grams daily
C. makes hearing damage from loud noise worse
D. increases hearing loss by three times
44. Millions of Americans are in danger of suffering hearing loss
because they
e 11 s
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